Test Solutions

3.   We want to find the amount of P2O5 (not the amount oof O2 !)
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x = 9.39 g
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(There are 9.39 g of phosphorus pentoxide produced

6. First you have to write the equation and balance it. Yes, this means that you have to know how to write formulas of compounds.  There is no way to avoid this. You have to learn it.
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Now need to find limiting reactant (two possible methods):

Method 1: (how much water will react with 10g of sodium?)
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36

x = 7.83 g
But we have 50 g of water so we have more water 
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than we need -- so sodium is limiting.


or (how much sodium will react with 50 g of water?)
46
=
36 
x = 63.9 g
But we only have 10 g of sodium, so it is limiting.
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Since sodium is limiting, use it to find out the amount of H2 produced.
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There is 0.435 g of H2 produced.

Method 2: 
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(find out how much H2 10 g of Na will make)
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46 = 2 
  
x = 0.435 g H2
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(find out how much H2 50 g of H2O will make)
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36 = 2  
y = 2.78 g H2


50     y

Since the 10g of sodium will produce the smaller amount, it runs out first and is the limiting reactant. We use the result from sodium as our answer.
(0.435 g of H2 will be produced.

